4.4 Partner Test 2014

1. Determine the domain of the rational function: f(x) =

Names

x?+3x—4

X -3x-10

1.

In 2-5, complete the information on the left side of the page. If a blank is not needed, write “NA.” Create an exclusion chart, and then use
all the information to create an accurate graph of the rational function. Be sure asvmptotes are written as equations and holes and y

intercept are written as ordered pairs.

2
2. Graph: f(x)= t—zv——?)—
x+2

CV:

Root(s):
VA:
HA:
SA:
PA:
y-int. =
Hole =

Exclusion chart:

X+2
3. Graph: f(X)=—F——F"—r
X +4x% —5x

CV:

Root(s):
VA:
HA:
SA:
PA:
y-int. =
Hole =

Exclusion chart:

Page 1 of !




2 —
4. Graph: f(’c) = x—z—sr—6~
x“ -1

CV:

Root(s):

VA:

HA:

SA:

PA:

y-int, =

Hole =

Exclusion chart:

 +2x% —3x
x+2

5. Graph: f(Y) =

CV:

Root(s):

VA:

HA:

SA:

PA:

y-int. =

Hole =

Exclusion chart:
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1. Determine the domain of the rational function: f(x) = -

x2—3x—1o"§%fww

x2 +3x—4 (ﬁ“?f@éﬁ “%)W

& 3 o
. ﬁ,;?g‘“ gﬂﬁm}i
o ETT e

In 2-5, complete the information on the left side of the page. If a blank is not needed, write “NA.” Create an exclusion chart, and then use
all the information to create an accurate graph of the rational function. Be sure asymptotes are written as equations and holes and y
intercept are written as ordered pairs.
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2. Graph: f(x) = ‘6;2;;_3- (_:X 2}>< LS \ }
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4. Graph: f(X) =———— R —
- Cx+Y (x-1)
CV: Q)x E }ﬁw@g
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Root(s): _.QQ’;Q\Z — wj?gﬁ:%
VA: ,_X_gw PN
(v, )

HA: E\ig = } N JRS
-y, 8.9

SA: %
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5. Graph: f(x)=

PAi \g 3 -3

@;@3

Hole = w%%w%mﬁ&:s&

Exclusion chart:
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1. Determine the domain of the rational function: f'(x) =
O )
(x-S

X#93,-

x2+3x—4
xZ —3x-10

. Write the domain in interval notation.

(=00,- v (2.5)0(5,00)

XZ ~J.9

L Oy

In 2-5, complete the information on the left side of the page. If a blank is not needed, write “NA.” Create an exclusion chart, and then use

all the information to create an accurate graph of the rational function. Be sure asymptotes are written as equations and holes and y

intercept are written as ordered pairs.
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Root(s): - | ')

va: X Z = ”‘j}
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2. Graph: f(x) =
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Exclusion chart: ’71 .—E j
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3. Graph: f(x)= m X’Z‘;}%T‘;:J}
ov: ~9.rs J O . ‘ X t+ J
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